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Nechonics Howmerooth 13

Seekion |
(a) () u, =25sin30° (=12.5)
12 =12.5t +4.9¢ —1 each error
Leadingto t =0.743 , 0.74 '
(®) (—) u, =25c0s30° [:35—2@1 ~ 21.65}
OB =25c0s30°x1 (~16.094 58) ft their (a)
7B =1.1 (m) awrt 1.09
(c) (—) 15=u_rxz3r~5(:¥zo.693 or 0.69)
M.K
either (V) v, =12.5+9.8 (~19.2896)
Vi=u’+v,’ (=840.840)
V~29 (ms™), 29.0
B AT [
n
19435

n=-——=
845x1.15
so the size of Zain's sample is 20

[Here it has been used that 1knot =1.15 mph]:
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Al (5)

Bli

M1 Alft
Al (4)

M1 Al
M1

M1 Al (5).

(14 marks)
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@ (@) 2ut =735 MI Al

0=3ut—%gt2 M1 Al

eliminating ¢ dep. Ml
u=245% Al (6)

(®) g 20 = pg Ml Al 2)

Initially: v* = (2u)? + (3u)?
(7803.25)

1
Emvz—%m652=mgh ' M1 Al

A =180 m (183 m) Al (4)

OR w2 =65 (2u) (1824) Ml
w2 = (3u)* — 2gh ' M1 Al |
h=180m (183 m) Al (4)

R — ¢ (12 marks)
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(a) - 30=2ut
T -47.5=5u-497
-47.5=75-4.9¢ eliminating u or ¢
o 75+47‘5(= 25)
4.9
(=5 3%k Cso
(b) 30=2ut = 30=10u =u=3
(c) T B=5u-98=-34 M1 requires both
— Be=2u=6 Kand K
v =6 +(-34)’
va34.5 (m s") accept 35

Alternative to (c)

2 2 2 3
TMv, —smv, =mxgx47.5 with

vi=6"+15 =261

vy =261+2x9.8x47.5 (=1192)

v, ~34.5 (ms")

accept 35

BEWARE : Watch out for incorrect use of v =42 + 2as

Bl
M1 Al
DM

DM1
Al
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M1 Al
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MI Al
Al
DM1
Al

®)
[13]

M1 A(2,1,0)
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Al
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